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Kealia Pond - Shoreline Positions and Erosion Rates

= Hardshoreline designated at that
    transect location for that year.= Outlier

= Shoreline Position
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Kealia Pond - Shoreline Positions and Erosion Rates

= Hardshoreline designated at that
    transect location for that year.= Outlier

= Shoreline Position



1900 1950 2000
0

100

200

300

400
Tr # 32

RLS = 0.7
EPR = 0.8

AEHR = 0.8

di
st

an
ce

(f
t)

1900 1950 2000
0

100

200

300

400
Tr # 33

RLS = 0.7
EPR = 0.8

AEHR = 0.8

1900 1950 2000
0

100

200

300

400
Tr # 34

RLS = 0.8
EPR = 0.8

AEHR = 0.8

1900 1950 2000
0

100

200

300

400
Tr # 35

RLS = 0.8
EPR = 0.8

AEHR = 0.8

di
st

an
ce

(f
t)

1900 1950 2000
0

100

200

300

400
Tr # 37

RLS = 0.9
EPR = 0.8

AEHR = 0.9

1900 1950 2000
0

100

200

300

400
Tr # 38

RLS = 0.8
EPR = 0.8

AEHR = 0.8

1900 1950 2000
0

100

200

300

400
Tr # 39

RLS = 0.8
EPR = 0.8

AEHR = 0.8

di
st

an
ce

(f
t)

1900 1950 2000
0

100

200

300

400
Tr # 40

RLS = 0.7
EPR = 0.8

AEHR = 0.7

1900 1950 2000
0

100

200

300

400
Tr # 41

RLS = 0.7
EPR = 0.8

AEHR = 0.7

1900 1950 2000
0

100

200

300

400
Tr # 42

RLS = 0.7
EPR = 0.8

AEHR = 0.7

di
st

an
ce

(f
t)

1900 1950 2000

0

100

200

300

400 Tr # 43

RLS = 0.7
EPR = 0.8

AEHR = 0.8

1900 1950 2000

0

100

200

300

Tr # 44

RLS = 0.9
EPR = 0.9

AEHR = 0.8

1900 1950 2000

0

100

200

300

Tr # 45

RLS = 0.9
EPR = 0.9

AEHR = 0.9

di
st

an
ce

(f
t)

year
1900 1950 2000

0

100

200

300

Tr # 46

RLS = 0.8
EPR = 0.9

AEHR = 0.8

year
1900 1950 2000

0

100

200

300

Tr # 47

RLS = 0.8
EPR = 0.8

AEHR = 0.8

year

Kealia Pond - Shoreline Positions and Erosion Rates
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Kealia Pond - Shoreline Positions and Erosion Rates

= Hardshoreline designated at that
    transect location for that year.= Outlier
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Kealia Pond - Shoreline Positions and Erosion Rates

= Hardshoreline designated at that
    transect location for that year.= Outlier
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